
𝑓(𝑥)
−5 ≤ 𝑥 ≤ 4.

lim
𝑥→0

𝑓(𝑥 − 1)

lim
𝑥→0

𝑓(2 − 𝑥2)

lim
𝑥→0

(
|𝑥|

𝑥
∙ 𝑓(𝑥 − 1))

  Given 𝑓(−3) = 5, 𝑓′(−3) = −2, and  𝑔(𝑥) =  
1

𝑥
 .   Let ℎ(𝑥) = 4𝑓(𝑥) ∙ 𝑔(𝑥).    Find lim

𝑥→−3

ℎ(𝑥) − ℎ(−3)

𝑥 + 3
.

𝑔 𝑔 𝑔′ 𝑥.
ℎ

𝑘 𝑘(𝑥) = ℎ(𝑔(𝑥)). 𝑘′(1).

𝑚 𝑚(𝑔(𝑥)) = 𝑥. 𝑚 𝑔 𝑚′(4).

𝑑𝑊

𝑑𝑡
=

1

10
(𝑊 − 600)

𝑑2𝑊

𝑑𝑡2 𝑊.

𝑥 𝑔(𝑥) 𝑔′(𝑥)

1 2 0.2

2 4 0.4

3 5 0.6

4 8 0.8

Graph of ℎ 

Graph of 𝑓 
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𝑊 𝑡 = 0

𝑡 =
1
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𝑊
𝑑𝑊

𝑑𝑡
=

1

10
(𝑊 − 600) 𝑊 𝑡

𝑊 𝑡 = 0

𝑡 =
1

3

𝑑2𝑊

𝑑𝑡2 𝑊.
𝑑2𝑊

𝑑𝑡2

𝑡 =
1

3

𝑔(𝑥) =  √𝑥 + 2
[– 2, 0].  𝑥 = 𝑐 −2 <  𝑐 <  0

𝑓(1) = 3 𝑓′(𝑥) ≥ 2 1 ≤ 𝑥 ≤ 4 𝑓(4)?

Rewrite as a definite integral and evaluate: lim 
𝑛→∞

∑ (3 cos (
𝜋𝑘

𝑛
) + 5) (

𝜋 

𝑛
)

𝑛

𝑘=1


